I KINGS OUTLINE (brief)
A Ralph Johnson 
Theme: Reign of Solomon and division of the kingdom 
* Note: (I)=Israel; (J)=Judah; (S)=Syria;   s = “son” of previous king; y = “years”
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	I.    REIGN OF SOLOMON (chap. 1—11)

	       A. Established as king (chap. 1—2)

	B. Greater Reign of Solomon (chap. 3—10: 2 Chron. 8:1-18)

	C. Declining reign of Solomon (chap. 11)


	II. DIVIDED KINGDOM (chap. 12—22)

	A. Division of the kingdom (chap. 12—14)

	     REHOBOAM of Judah, son of Solomon (17years in Jerusalem) Folly (12:1-15; 2Ch. 10:1—12:15)

	     JEROBOAM of Israel (22y) Becomes king of ten tribes in north (12:19-21)

	        B. Reigns of three kings in Judah (15:1-24)

	      ABIJAM of Judah (s) (3y) Walked after sins of Rehoboam (J). (15:1-8; 2Ch. 13:1-14:1)

	      ASA of Judah (s) (41years) Good.  Removed idolatrous queen mother. (8-33; 2Ch. 14:2-15)

	          BEN-HADAD of Syria, helped stop Basha (I) building Ramah. (17-21)

	      JEHOSHAPHAT of Judah (s) (25y) becomes king. (15:24; 22:1-51)

	        C. Reigns of 5 kings in Israel (15:25—16:28)

	NADAB of Israel (s) (2y) Evil like father, Jeroboam. (14:19; 15:25-28, 31)

	      BAASHA of Israel (24years) Killed Nadab. Became King. (15:17-34)

	      ELAH of Israel (s) (2y) Killed by Zimri (I) while drunk. (16:6-14)

	      ZIMRI of Israel (7days) Smote house of Baasha. Burned self. (16:9-20)

	      OMRI of Israel (12years) Made king by people.  Evil. Built Samaria. (16:16-28)

	         D. Reign of Ahab in Israel

	      AHAB of Israel (s) (22y) Married Jezebel, daughter of King of Sidon. (16:28-33)

	      BEN-HADAD of Syria demands tribute from Israel. (20:1-12)

	         E.  Reign of Jehoshaphat in Judah (22:1-50)

	        JEHOSHAPHAT of Judah (25y) & Ahab of Israel plan to attack Syria. (22:1-4)

	          F.  Reign of AHAZIAH, son of Ahab in Israel (22:51-53)
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